
Турнир по решению  шахматных задач (#3, #3, #3)

Ответы
№ Задание Решение

№1

XABCDEFGHY
8-+-+-+-+(
7+-+-+-+k'
6-+-+-+-+&
5+-+-+K+-%
4-+-+RvL-+$
3+-+-+-+-#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

#3    3+1    С+

№1. J. Kling [1846 г.]

1.Lh6! 
1...Kg8 2.Kg6 (2,5) 2...Kh8 3.Re8#
1...K:h6  2.Re7 (2,5) 2...Kh5 3.Rh7#

№2

XABCDEFGHY
8-+-mK-+-+(
7+-zP-+P+-'
6-+-+k+-+&
5+-+-zp-+-%
4-+-+P+-+$
3+-+-+-+-#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

#3    4+2    С+

№2. E. Cook [1855 г.]

1.f8R!  Kd6  2.c8R! (5) 2...Ke6
3.Rc6#

№3

XABCDEFGHY
8-+-+-+-+(
7+-+-mK-+-'
6-+-+-+-+&
5+R+-+-+-%
4-+-mkP+-+$
3+-+-+-+-#
2-+-+-+-+"
1+-+-wQ-+-!
Xabcdefghy

#3    4+1    С+

№3. S. Loyd [1857 г.]

1.Rb3! Ke5! 2.Re3! (5) 
2...Kd4 3.Qc3# 
2...Kf4 3.Qg3#
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